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1. Choose the correct answer. b g :
1. The eye defect presbyophia can be corrected by e
) g)l Z?\?tv:: Ief?s-t b) Foncave lens C) convex mirror "d) bifocal lens
gy R resistance is a) mho - p) joule c) ohm d) ohm meter
) Leadoxfde _aprogs_.are used to prote;:t us from gamma' radiations : f \
N trote of ) iron . €) Ieadl d) aluminium )
a) g g 0 any:‘;ubstance contains molecules T
s o8 h23 X 10 b) 6.023 X 10 c)3.0115 X 102 d) 12.046 X 102 ;
\ Ich of the following is the wniversal solvent.
: 3\)Ih5cetone b) Benzene c)Water ) Alcohol
; ich one of the following is used to cure wound o .
s a) Hydrochl?r]c acid . b) Hydrogen_beroxfde ¢) Ammonium chloride d) All the above
N AT e DA IS ATP factory of the cells. . )
L5 S&act:ehlorﬁf)lastt- b) cw0p|asm c) mitochondria d) nucleus )
. r W_ '?h is abs_orbed by roots is transported to-aerial parts of the plant through |
3 a) Cytokinin b) auxin c) gibberellin ~d)ethylene . . |

The hormone which has positive effect onapical dominance is
a) Cytokinin b) auxin c) gibberellin d) ethylene
10.  The best way of direct dating fossils of recent origin is by ) a) Radio carbon b
b) uranium lead method c) potassium argon methog d) bothI i ol
1. Excessive consumption of alcohol leads to ' (2) and (b)

/-

a) Loss of memory by cirrhosis of liver = ¢) st : W3
, ate of hall o] R R NP A
d) suppression of brain function L - ucma.l i
. 12. Allfiles are stored in ............ a) Folder ' b)box ) pai d) scanner . '
PART - I 2t -

Il.  Answer any 7 of the following. (Question no 22 is compulsory).

13, Why a spanner with a long-handle is preferred to tight : :
147 State Boyles law. ; ghien screws in heavy vehicles.

1&" ’True or False.
a) lonic radii increases across the period from left to right

__b) In a solution the component which is present in | .
1& " Fill in the blanks ol esser amount is called

a) The chemical name of rustiis ................ b) 100% pur ; '
17.  Ordinary soap cannot be used in hard water. Wh;? o pure elhanol is called

18. Match the following.

7X2=14

-----------

a)Brain - ' a)pleura ¢ . > « V
b) Kidney - b) capsule 4 - =2
c) Heart - c) meninges | @ & \th 3
¢ 9 lungs - d)pericardiuin 2 « O . HTM ]0 sypeflwed Page - 1
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19-—Bfaw and label the =4 by | °
19+ , | o B

‘ parts of sperm cell Lo\ \ » 1270
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207 Name the typas of stem ce'll';. ! '\“"Y

21.

What are the advantages of practising exercise jn daily life
22, :

Three resistors of resistances 5 ohm, 3 ohm, and 2 ohm are connected in series with
10V Battery. Calculat? their effective resistance and the current flowing through the circuit.
, \ PART . 1Ii :
Answer any 7/of the following. (Question no 32 is compulsory). 7X4=28
ifferentlate cgnvex lens and concave lens.» _ 37 '
a) What is meant by electric current. b) An alloy of nickel and chromiym is used as the
heating element.why? '
25.  What is the nuclear reactor? List out the essential parts of a nuclear reactcr.
26. a) Identify the bond between H and F in HF molecule.-
b) What property forms the basis of identification.: W&AAJN ;
c) How does the property vary in periods and in groups. |
Differentiate reversible and irreversible reactions ]
) How does leach suck blood from the host? QN Ly /4
b) How does locomotion takes place in leech? ) )
29. a)-Name.the-gaseous plaht hormone. Describe its three different actions in plants.
b) Which hormone is known as stress hormone in plants ? Why?
. j MJ*(‘Za) Define paleontology? b) Which ofganism is considered to be the fossil bird ?why is the
!
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O bird considered to be a connective link? . -
\3 numerate the functions of blood? d
3 anIculate the number of moles in a) 27g of A/ b) 1.51 x 1023 molecules in NH, CI.
- PART - IV g _
IV. Answer all the questions. " 3IX7=21
33. a) i) State the universal law of gravitation and derive its mathematical expression.
i) YWhat are the causes of "Myopia" ? (OR) Q)’lmst the merits of LED:(?,C 1{2.,
.v' ii){ Wajte any three features of natural and artificial radioactivity ? \'
734 gyif what isust ? Give the equation for formation of rust. '
} \ ii) In what way Hygroscopic substances differ from Deliquescent substances. (OR)

| b) i) List-out the factors influencing the rate of a reaction .
ii) What is called Homologous series. - iii) Give any 3 of its characteristics.

35 a) i) Name the three basic systems in flowering plants.

| W isﬁranspiralion ? Give the importance of Transpiration. (OR)

‘1 Draw and label the structure of a neuron. '

i) What precautions can be takenfor preventing heart disease?

3 ¢ HTM’IO alglﬂéﬂ“-’é" _Pagg-; 2. &

. : . CamScanner
Kindly send me your answer keys to us - padasalai.net@gmail.com =5


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

